CASBEELBIZH+HERIEHDRERERITBE

KT ROZERICIRRRERG OBMEEIASL TS,

HHEEMAEHE BATIE

CASBEE-IL & 20144 AR

B2 E I B EXTEREE I
W1, NhECREREX R IDHE
1.1 BYoEammins
@Avh) XEEEEEZERCEHL TSN
ENEE BREE PRLES-E SRR e
IfILF— 2o a s
1.0 0.03
1.2 BAIRILF—OFHA
(=E7) XEEEEFERICEHL TS 3.0 100 |wi|zrox— 2| & sk an+ —FIH
3.0 0.07
1.3 FRIEVATLODEZIEL
(@Avh) XEEFRERICEHLGEEN. O 4.0 100 |wi|zxixe— 3l 27 Lo SH=EE
BEIM{EO0.9LA FELTLNS,
4.0 0.33
14 BEATLDOEMER
(=E7S) KEEFEEFERICREH LTSN 3.0 050 |w|zHRix— dmm=mEm s1|Ezmyy
1.0 050 |wi|THiLF— 4|3 EpER 4.2 EREE kS
2.0 0.13
15 BER-ITUTILRE
(FAh) XEEFREBRICEBL TSI O 4.0 0.10 |we|@m-<7u7r | 1|kaEmE 1.1] a6k
B KBEBRZERAL TS, 3.0 0.11 |wr|&E-<7U7L | 1|kaEes 12|MARIA-HHOKERA | 1[FARALRTLEAOEE
B LFHAERICARFRLTOTNS, 3.0 0.05 |[wr|&E-=FU7IL | 1|KEFERE 1.2|FEKFI A - HKEFA 2| KBRS AT LEADEE
2.0 0.08 |wre|&E-=TUTIL | 2kEsMEEoEREEE |2.1|HEHEREOHE
3.0 0.15 |Re|&E-=FUTIL | 2|kBEHEROERBEE |2.2|BE77 2SR IAZ DR
3.0 0.15 |Re|&E-<FUTIL | 2|*BEHEROERBEIE |2.3BHBIZETEUSAILHOER
1.0 0.15 |we|&E-<7U7IL | 2|EEsuamommEsm |24 smmsmncsr sy oisonn
3.0 0.08 |wre|&E-ZTUTIL | 2|EisMEEORRAEER |25|SHETREEFD SELSNIAM
40 0.15 |Re|&E-=FUTIL | 2|#BEEEROERBLE |2.6|840BHMTELR EAORMH
29 0.32
1.6 SA47H4)LCO24EH =
@Avh) XEEBEZERCEHLTTESD 4.1 1.00 |ro|sumoiims 1| Bk R R L~ DEE
G794 CO23E IR A — R R B YN(S FBE)I X L TT2%
4.1 0.13
1. #hBRGR IR 1 X 3% 1 O HE 6 0D 5T 32 0.70
W2 [E—r7ASURXRIDHEE
2.1 BRERIEOMEE
(@rvh) XEERREMRICERHEL TS, 1.0 052 |a3|=smesanm) | 1|EMBEORLSLEIH
3.0 0.26 |Q3|=4MEEE (BUhR) | 3|t FAZTA~OBEE|3.2| Bt RERIRE D@ L
2.0 0.22 |wro|Butstinss 2|t IR A~ DEE 22| BRBEELORE
1.7 0.97
2.2 RBEE TN
QAvh) KERFREMRISERLTISL, 5.0 1.00  |ro|gesiamss |EBE~ORE |23t TS~0aEMH | 3|EEEDE
BB EAR—REHEZRL TS,
5.0 0.03
2.TE=FP A7V 58 1 D HE L D FE A 1.8 0.22
W3. [REMILIRIDHE
3.1 MtAMEDRELE
@ATF) XEEBEEEZERCEBL TS, 30 0.18 |az2[p—Extmse 2|t F - 15 4E 1 21|fitE-2E il et
BEEIXELLTBREZIEALTLS, 3.0 027 |az2|lr—tzise 2|t Fat - (S 4B 21| % m KB HIREAE
3.0 0.11 Q2|H—E R MHE 2|t AT - 1558 2.2 &R & - BR A DT R 3K SRARH L DT A5
3.0 0.11 [Q2]y—ERMHEE 2|t Rt - S4B 2.2| R & - ER 4 DOt FAEE 3% SAEEAE B (FH ORISR BRI
3.0 0.05 |Q2|¥—ERMEE 2|t FtE - 15 8EM 22|88 ERM DT A ESK TEREH EFHOEFLBENR
3.0 0.05 |az|p—Exise 2|t F - 15 RE M 2,288 - EM DO AER BRBES VO EH B ELR
5.0 0.11 |q2|y—ExitAEE 2| R - 1S 4E 22|53 5 ED4 DT A EE %K - BHKERE OB HERR
3.0 0.11 [Q2|¥—ERMEE 2| - 1S REM 22| R & - ER 4 DTt FAE 3% TERBRBOEFLEMRE
3.2 0.58
32 FZIEDEHMN
(FAVE) KFFHOFELRRICEBLIRRZEAL TSI | 3 0.20 |oz2|4—E=tse 3|t - EETE 33|BmoESE EREEOEHE
3.0 020 |az2[v—E=xitse 3|t - E T 33|BiEO =S BEKEDEHH
3.0 0.10 |o2|s—E=xitae 3| R - ETE 33|BBEOEHM ESEBOEHM
3.0 010 |oz2[s—Eczmse 3| st - B 33|BEOEHH BIERKOEHH
3.0 020 |az2|v—E=xitae 3|t st - T 33|BEOEHH BERBOEHH
3.0 0.20 |o2[»—E=xitaE 3| st - B 33|BiE =S RYGTITRR—RADRER
3.0 0.42
ITRFMIERIDHENDFH S (LFE2IEE) | 31 0.08

BEREB DT (EEIEE)

2.9




